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Day 543 Homework

A particle moves along the x axis such that its position. for 1 = 0, is given by the function p(f) = &~ - 5¢.
Use this information to complete exercises 1 - 4.

1. What are the xa]ue:s of p*'(2) and p"(2)? Explain “ha[ each value represents.
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Based on the values fﬂund in part {(a), what can be concluded abuut the speed of the particle at t =27
Give a reason for vour answer.

Vnce 9D >0 amd p'ED >0, ta sperd 1 e
Portcle is ncreasla ok =2,

b=

T

. On what interval(s) of t is the particle moving to the left? To the right? Justify your answers.

P'®)= 0 o'(t) -

e’ti.-.._. q"l Since ('I:)t.n -’('hl_ PM“L s movi lob&
2t () tn O ¢+. £0.458 . Since oD >0 -\-L._
1= 0.46% ?u-'i-lt.ﬂn. S mbdﬂ:)rtsh\' m-\:}uﬁga

4. Does the particle ever change directions? Justify your answer.

Sike ' = v(X) oln.wa,a .5"6.“0 ok t=0.458,
e Poricde d%aw direckions,

5. The graph of w(1), the velocity of a moving particle, is given below. What conclusions can be made
about the movement of the particle along the x — axis and the acceleration, a{r), of the particle for
t =07 Give reasons for your answers.

Since NVE)L O on Detel, A ?orHc—Ln. {5 movive %mub{-.
Since. V() > © -hor + >, ?a.ri'uj& s mumﬁ '\'D-\Enqr’s*
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6. If the position of a particle is defined by the function x{7) = ” =9t~ +24 for ¢ > 0, is the speed of the
particle increasing or decreasing when ¢ = 2.57 Justify your answer.

V(D)= k) = 3¢:-18t +24 W) = alE)= Gt -18
V(2.9)= 3(28)18(2+24 a.(?-’:i) ecz--:o -18)
v@2.9)= -2.25

Swce vt V(2. S)awi a(2.5)4 0, wﬁ?tdﬁﬁ’fk

Poxiicka (s nereasing o t=2 S

The position of a particle is given by the rum:tmn plr)=(21— 3)e” " fort>0. Answer questions 7 - 9.

7. What is the average velocity fromf=1to1=3?

an.an.wdac.lb - ?(? :P;!D_ - 121

8. Find an equation for v(r), the velocity of the particle.

P@ = () = ae. “"-f ~1(at-3)e
v(E) = - (24-3)e”
NEHE e,q‘*b(a—a{-. +32)

Y\l L= (5- 24)e -.lj

2 -t

0. For what value{s) of ¢ will the w(7) = 0?

N(E)= O
- -
5-.2+£=0 = - O
~-2%:=-5 a=Tt= i O
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